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“11-2) Study Guide and Intervention

Functions

PERIOD

function for a certain number, substitute the number into the rule in place of x, and simpilify.

A function connects an input number, x, to an output number, f(x), by a rule. To find the value of a ‘

EXAMPLE 1

flx) =2 + 3x
£i5) =2+ 3(5) or 17
So, f5) = 17.

Find 19 if fix)

Write the function.
Substitute 5 for x into the function rule and simplify.

248 /)ilh?@p/ace, the x it
7

Nrméetr jpn Pl enttess s
2 ’1"3)( e /]S
ZPlus 34imes X or 2 plus 3 frmesS

You can organize the input, rule and output of a function using a function table.

2 #3.6

Substitute each value of x, or input, into the

function rule. Then simplify to find the output.
fx)=2x + 4

-1)=2(-1)+4o0r2

f0)=20)+4o0r4
f1=2(1)+40r6
fi2) =2(2)+4o0r8

Input Rule Output
2x + 4 Ax)
-1 2(-1)+4 2
0 2(0) +4 4
1 2(1) +4 6
2 2(2) + 4 8

AEXERCISES,
Find each function value,
LADffx)=x+3
fU)=1+2 =4
F1) =4

4. f9) if flx) = —3x + 10

£(9)= -39 +io

2. fl6) if flx) = 2x.
£l6) =2elp=12
fle)=ya_

5. A—2)if flx) = dx — 1

Fl-2)=4.72 —|

3. fl4) if ) = by — 4

f(4)=5-4~4 =z0-4=1y
FLE) =1}

6. A-5)if fle) = —-2x + 8

7£(~5).:-Z¢ “S‘DL?

Ftay = 27+ £(2)= =§-| Fts)= 10 +¢
9y = =17 f2)="9 /-5) =
Compl%ate each function table. ]C(.S) - /C?
7. flx) =x — 10 8. ix)=2x+ 6 9. flx) =2 - 3x
x x—10 fx) x 2x+ 6 fix) x 2 - 3«x flx)
“ll—~/=/0 | ~¥ —3|2-3+4L | O —212-3--2 | § |
ol o =0 [0 ~1|24-1 +4 | 4 02-30 |2
1\ /-0 |9 212e2 +6 | /o 8l2 =332 |7
2l 2 o |-& L 424 46 |4y 42-3-4 [~/
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11-2 ) Practice: Skills

Functions
Find each function value.
1. 2)if flx)y=x+ 4 2. ifAx)=x—8 3. Aifflx) =2x+2
4. f6)iflx)=2x— 5 5. A-Diffix)=3x+6 6. 18) if lx) =3x — 10
7. A=5)if lx) =4x + 2 8. A—-3)if flx) = —dx — 4 9. A—-4)if ix)= —5x — 3

Complete each function table.

10. Ax) =x + 7 11. filx) =x — 13 12. filx) =2x + 8
x x+7 fx) x x—13 fx) x 2x+ 8 fx)
-1 -2 -3
0 -1 -1
1 2 0
2 3 4
™~
Al
-
=
13. flx)=2x — 3 14, flx)=3x + 4 15. flx) =7 — 3x g
x 2x — 3 flx) x 3x+4 fix) x 7-3x fix) 9
-2 —4 -3
2 -2 -1
5 1 3
8 3 5
16. filx) =4x + 5 17. flx) =1 — 4« 18, fix) = 6x — 2
x 4x 4+ 5 fx) x 1—4x flx) x 6x — 2 )
—4 =2 -5
-1 0 -3
2 3 2
6 5 7
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